Tracks

160
140
120
100

0.95

50 40 60 80 100120140 160180200
TrackingParticles

n 0.05
@
2.045
©
2.,0.04
£
ggoss
=
E(los
©.025
£0.02

O
9.015
(9]

0.01

0.005

Ratio

.....................................................

0.95

I
i

<+ |

104 = [T

14 |e E

- o0 -0 1-[---n-- e[

b

90 100

0 30 40 50

60 70 80

Pileup

—=— DQM_TT__ORIGINAL

—— DQM_TT__MODIFIED_propToPlane_|

PRVersionFINAL2

10

7T U.UO
]

2.045
©
2,0.04
£
3@035
=
5003
©.025
80.02
(6]
9.015

V)]
0.01

0.005

T 99 | 900 -[ |9 oe ! {0oe]l{- o-

L 4

1kt

-4

e




	Contents
	Page 1


